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Section A: Easy Questions (1 mark each)

1. Answer: 120°

(6 2)=180

=~ 1207

o Each interior angle of a regular hexagon =
Z. Answer: 40 cm?
v Area = 8 x 5 = 40 cm=.
3. Answer: 43.96 cm
o Circumference = 2 x 3.14 = 7 = 43.96 cm.
4. Answer: Right-angled triangle
o A triangle with a 80° angle is right-angled.
5. Answer: 5200 m
v 9.2 = 1000 = 5200 m.
6. Answer: 24 cm
o Perimeter =4 x 6 = 24 cm.
7. Answer: 64 cm?
5 Volume = 4* = 64 em®
2. Answer: 72°
» Each exterior angle of a regular pentagon = @ = 72",
9. Answer: 5 cm
o Radius = 1? = D cm.
10. Answer: 30 cm?

o Area= = x 10 x 6 = 30 em2

[S=1]

11. Answer: 3607

o Sum of interior angles of a quadrilateral = 360°.
12. Answer: 4.5 kg

o 4500 = 1000 = 4.5 kg.
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Section B: Medium Questions (2 marks each)

13. Answer: 84 cm?
o Area =12 x T = 84 em2.
14. Answer: 2512 cm?

o Area of sector = % x 3.14 x 82 = 25.12 em=.

15. Answer: 32 cm?

o Area =3 x (10 +6) x 4 = 32 cm?,
16. Answer: 942 cm?

o Volume = 3.14 x 5% x 12 = 942 cm?.

17. Answer: 10 cm

o Hypotenuse = *'.,-fl'_i2 + 82 — 4/ 100 = 10 cm.

18. Answer: 18 sides

o Number of sides = % = 18.

19. Answer: 34 cm
o Perimeter = 2(12 + 5) = 34 em.

20, Answer: 3 cm

31.4

531 — 2 cm.

o Radius =
271. Answer: 150 cm?

> Volume = 15 = 10 = 150 cm?3
22. Answer: 40 cm?

o Area = % x 10 x 8 = 40 cm?2,
23. Answer: 5 cm

150

» Edge length = V6 = 5 cm.
24, Answer: 5 cm
) . {785
» Radius = \ 311 — 2 cm.
Acumen TEEC"I © 2025 Acumen Teach, Ltd. Acumen Teach - acumen-teach.co.uk

To the point



Section C: Hard Questions (3 marks each)

25. Answer: 93.6 cm?
o Area = ?'”TF{ % 62 = 93.6 cm?2.
Z26. Answer: 282.6 cm?
» Total surface area = 3.14 x 5% + 3.14 x 5 x 13 = 282.6 cm2.
27. Answer: 3077.2 cm?
o Volume = 3.14 x 7% x 20 = 3077.2 cm?.
28. Answer: 12 cm

o Other side = 4/15%2 — 92 — /144 — 12 cm.

Z9. Answer: 5/.3°

alhx 360 =
314100 974 .

o Angle =

20. Answer: 6 cm

o Height = ﬁ = b cm.
21. Answer: 56 cm
o Perimeter =8 x 7 = 56 cm.
32. Answer: 904.32 cm?
o Volume = 3 x 3.14 x 6° = 904.32 cm?>.

23. Answer: Correct

13 | b

o Area = 5 x (8 + 12) x 5 = 50 cm?. The given area is incorrect.

24, Answer: 314 cm?

. S G2A o 2 _
» Radius = 557 = 10 cm. Area = 3.14 = 10 = 314 ecm?.

25. Answer: & cm

]

= 6 cm.

> Height = &

=

2
26. Answer: 400 cm?

o Volume = ; % 107 x 12 = 400 cm?3,
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